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MATHEMATICS (2019)

Nationality No.

Name

(Please print full name, underlining family name)

Marks

Note that all the answers should be written on the answer sheet.

1. Fill in the following blanks with the correct answers.
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Find the range of x that satisfies the following inequality
|x + 3| <4x.The answeris [ |.

The number of solutions (x,y,z) of the equation x+y+z=4,
where x,yand z are zero or positive integers is |:|

On the plane xy, there are two points ; 0(0,0), A(6,8). The equation of the circle
with a diameter of the line segment OA is ()C—2 + (y—‘ @ Dz = | ® ‘2 .

log,9=log,[ @ |log,4=log,[ @ |

hence (log,3+log,9)(log,2+log,4)= '

Let the sequence {an}(n=l,2,3,m) be a geometric progression satisfying

a,+a,+a,=14, a,+a,+a, =-42 . When we denote the first term of {an}

L r=| © |

by a, and the common ratio by r,wehave a=| O

Let @ =(L0~1), b =(-221), ¢ =(x,7,2) (x>0) and ‘?‘ =3. When ¢ is

2= 0]

L y= ©®
Let M denote the midpoint of side BC of a triangle ABC.

When BC=8, CA=4, AB=6, then cos ZABC=| @ | AM=[ @ |

The equation of the tangent to the curve f(x)=—x"+x+2 at the point (0,2) is
y= , and the area of the region bounded by the curve f(x) , the tangent

and the x-axisis .

perpendicular toboth a and b ,then x= ‘ @
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2. Atriangle ABC on a plane satisfies AC=BC and ZACB=90°. DC=1, ZAHD=90°
and ZADC=60°. Fill in the following blanks with the correct numbers.
(1) The radius of the circumscribed circle of AADC :I:I.

(2) The radius of the circumscribed circle of AABCzl:l.

[oN@]-[&] B
[@]

(3) The radius of the inscribed circle of AABC=

Jo]-[e]

(4) DH= .

®
| Jol-J[e@]
(5) sin ZDAH= )

6) cos ZDAH= V*\/ . c
A

3. On the plane xy, there are two straight lines ( (1) and (2) ), two parabolas
( (3 and (4) ) and a circle (5) as shown in a lower figure. Choose the correct

equation from D~@® to satisfy each graph and fill in the blank with the number.
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DOx+3y+6=0 @4x-y-4=0 @ x? +4x+y* +4y+4=0
@55 ~30y+8x+60=0 ©®x-3y+6=0 ® x4+ y+4x+4=0
@D x? —dx+1* —dy+4=0 ® 5x*-30y-8x-60=0 ©2x-y-4=0
®x2+y—4x—4=0 @x2—4x—y2—4y+4=0 ©@ x-3y-6=0
@ 5x°-30y-8x+60=0 @2x+y+4=0 QX +y—4x+4=0
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